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OZSHDILHSE 2elsS AESAE
350,000,000 350,000
Od3t=5AdE =8 Ul
15,000, 0003 15,000
Klelatd 7HAIZ2 MSUE 20,000 0 20,000
201 2EH2EY| 20,000 0 20,000
03 A= 20,000 0 20,000
OAXleldrd TRIEH MU &t
20,000,000& 20,000
HEARH = 2 dEEEdE gAY 2,000,000 2,000,000 0
Xl 1,000,000
& 300,000
= 700,000
403 MXISHSAH=201A 2,000,000 2,000,000 0
Xl 1,000,000
& 300,000
= 700,000
02 S| 2SO A2H 2EAI 2,000,000 2,000,000 0
OURAHH= 2Z A HEHEYZ ZHAE
2,000,000,000& 2,000,000
Xl 1,000,000
& 300,000
= 700,000
AF A A AFEONE AN 1,144,000 993,700 150,300
Xl 880,000
& 264,000
401 AIEBIL20HYI 1,144,000 993,700 150,300
Xl 880,000
& 264,000
01 Al&HI 1,144,000 993,700 150,300
OASoHA AL AZNEAIE  1,144,000,000& 1,144,000
Xl 880,000
& 264,000
NLERaX 2SN 1,600,000 200,000 1,400,000
Xl 800,000
& 240,000
= 560,000
401 AIEBIL20HYI 1,600,000 200,000 1,400,000
Xl 800,000
& 240,000
= 560,000
01 Al&HI 1,594,240 198,560 1,395,680
O NEERX 2AZHAIAA
1,594,240,000& 1,594,240
Xl 800,000
& 240,000
= 554,240
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S - FE - SRI(E) - HRAR - BaES ol &k S B2t
03 A& =201l 5,760 1,440 4,320
O A&l 1,600,000,000&+0.36% 5,760
ZH0HAH Ol2/LHIE A A 600,000 0 600,000
Xl 300,000
o= 90,000
i 210,000
401 AIEHIZ 2B 600,000 0 600,000
Xl 300,000
o= 90,000
i 210,000
01 Al&HI 596,220 0 596,220
O 04 Dleltioia A AN 596,220,000 596,220
Xl 300,000
o= 90,000
i 206,220
03 A& =201l 3,780 0 3,780
OAIE 20| 600,000,000&*0.63% 3,780
PN R e ) = N iy 603,620 546,716 56,904
Xl 301,000
o= 60,200
i 242,420
K| AHAZINLTE 2 46,720 63,016 216,296
201 LBH2AL| 3,000 3,000 0
01 At2teld| 3,000 3,000 0
OXZRIERZNLEE TAT2Y =4 AT
= 250,000& x12& 3,000
308 KXIEHHISOIH 43,720 60,016 216,296
10 271 2SI HEHE & A S A 43,720 0 43,720
ORXlela-A2t2pe X8 23| FE3
43,720,000 43,720
Ke| oA A A 22 A S0 7,000 33,000 A26,000
308 KXIEHHISOIH 7,000 33,000 226,000
10 271 2SI HEHE & E S A 7,000 0 7,000
ORI A A 22 A SN 7,000,000 7,000
Nelohd 222t 2 T4 57,000 116,700 259,700
Xl 34,000
o= 6,800
i 16,200
403 XIS SAH=01& 57,000 0 57,000
Xl 34,000
o= 6,800
i 16,200
02 SII2S0ICHEAI=E KIS AL 57,000 0 57,000
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SA - HH - S9I(3H) - MIRAY - BES Ol S HIDS
OXlcltt=d 2 oA 2=tz T4AIY
57,000,000& 57,000
N 34,000
& 6,800
z 16,200
2Z0PHHoI=2g 20,000 250,000 /230,000
308 MRIHISOIE 20,000 250,000 /230,000
10 SI12S0UeE &N A A 20,000 0 20,000
OAXleletd 2Z0BtuilizE 20,000,000& 20,000
Xelah =dZ 33t Al 160,000 0 160,000
N 96,000
& 19,200
z 44,800
403 NXIHISAH=01A 160,000 0 160,000
N 96,000
& 19,200
z 44,800
02 S|S0 A2H 2EAIH 160,000 0 160,000
OXlclat =d2 33 At 160,000,000 160,000
N 96,000
& 19,200
z 44,800
KICI &SRR AT RIE O] QI AL 285,000 0 285,000
N 171,000
& 34,200
z 79,800
403 MXISHSAH=201A 285,000 0 285,000
N 171,000
& 34,200
z 79,800
02 S| 2SOU 22X 2EAIH] 285,000 0 285,000
OXleldt St AR el ZMAHY
285,000,000 285,000
N 171,000
& 34,200
z 79,800
Kelahd A HL 5 AL 5,600 0 5,600
308 MRIHISOIE 5,600 0 5,600
10 SI12S0UeHE &N A A 5,600 0 5,600
OXlelahd AL H2SHA 5,600,000& 5,600
Aelatd AZ2LIHE 29 2,300 0 2,300
308 MRIHISOIE 2,300 0 2,300
10 SI12S0UeHE &N A A 2,300 0 2,300
OAle|dtd 2Z2LIH 29 2,300,000& 2,300
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M AME HSES X
ool ROHSES 2 (Srel: &)
% (5]
SH - B - SRI(3I) - NIRAR - BaS il &bt S HmE=
307 212H0IA 14,400 0 14,400
VRTREPONEES 14,400 0 14,400
OYBMBHSNER DS X
300, 0002442 122 14,400
OIZAMEHST X 2E X2 21,600 0 21,600
307 212HoIF 21,600 0 21,600
VETREFONSEES 21,600 0 21,600
OOIZAMB YIS DEH| X2
300, 00024462 122 21,600
ALEILIASSIZ AI2E 5] YREILIA O3] 20,000 0 20,000
307 212HoIF 20,000 0 20,000
04 QIZFEHAAIR B 20,000 0 20,000
OZLEHLIASSIRY AIZ0E LREILIALS]
20,000,00024 20,000
AEVNEEE 1,646,620 2,504,116 857,496
ITHSAIL2Y 659,324 526,820 132,504
01 2121t 119,285 106,715 18,570
SIEIEE=TES 119,285 106,715 18,570
OBLSSHES AT 2121Y|
60, 24024#2014502 6,024
OFABAFS AT 2121Y|
60, 24024#2014502 6,024
OHTELEIR BBTY| oI21H)
60, 24024#201+502 6,024
OEERNC =L o121
60,2402 #421+502 2,048
OtEEtEISY BT 2121yl
60,24024#201+502 6,024
OLHHSHETS SR 2121yl
60, 24024#201+502 6,024
OMEHSB 22| 2121yl 41,807
0122 60, 24024+201+2502 30,120
(ES S 60,2402 #201 462 5,543
0=ALBER 35,663,0002443. 12% 1,113
InEELEE 35,663,002+ 1.5% 53
0ATHEER 35,663, 0002+8. 0% 2,854
0=0l0i3 35,663, 0002+4.5% 1,605
0 QEI|RUBER 1,113,00024+3. 275% 57
OSAHSB 22| 211yl 17,655
0122 60,24024+121+2002 2,048
(ES S 60,2402 1214502 3,012
0=ALBER 15,060,00024+3. 12% 470
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SA:
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m: A HE2E 1
o9l XISAIL 2 (ol @21)
SA - BB BRI(3) - IRAY - BES ofles e HIDZ
0NE=EE= 15,060,0002*1.5% 226
OtHiEE = 15,060,000 +8.0% 1,205
0=2193 15,060,0002 *4.5% 678
0 IRAYLE= 470,0002+3. 275% 16
OgRdas3E 2c|2lA] 17,655
== 60,2402 %121x200 12,048
O=Xt==& 60,2402 *1Q1x50 3,012
0=2HHEE= 15,060,00024 3. 12% 470
nE=Eg=s 15,060,0002*1.5% 226
OtHiEE= 15,060,000 +8.0% 1,205
0=2193 15,060,0002 *4.5% 678
0PI IRAYLE= 470,0002+3. 275% 16
201 Ler=g| 306,039 234,105 71,934
01 At2t2ld] 30,124 19,970 10,154
Oget+SH| 21,964
Ol MAIEAL QWS Al
200,000+ 1] 200
0SHEEX+E 22,0002 123« 12 264
OBBHSAIL SHEA NIZH LSH, SHEX
- 200,000 &% 1233 & 7,200
OARES 7Y 50,0002 %123 600
0L 2ACIES 7Y 75,0002 *7IH Ax42] 2,100
oMeDI0tH +& 3,000 *10004=12& 3,600
ORI 22| 5L ARE 72
200,000 74 2~ 1,400
0FIBE (2L, UES) 7Y 1,500,000& 1,500
0E==JIl= 50,0002 *4J4 A% 123 2,400
Ok AL /& =] 200,000&*1H 200
0SSHSAE 2P 22
500,000 57K 2~ 2,500
o2l 3,680
O=SH(MSYRFN) 8,000 *521x804! 3,200
OSEHI(HEEHIA2R) 8,000&x221x304] 480
o< 4,480
OM=sdsd s 29 =&
70,0002 *42|%13H 3,640
OMst&ll==geds 28 =&
70,0002 *22[+6H 840
02 E=5=4H| 275,915 214,135 61,780
OZ32= % MAl 259,215
0HJIOtN BH 2 1,000,000&x 128 12,000
ogetAc|lgRUdgrr= 600,0002*12& 7,200
0AHoIER=S 14,5208+ 128 175

- 393 -




A ni;
PSR Isg8s XN
eel: a2 (Sl &
S GR|(3) - HISARY - BAS Oil b e HmE=
0MIIRE 239,840
oAlliMIs2 &JIe3 3,000,000&*12& 36,000
oMZMEEE MRS
1,200,000 *12& 14,400
0 BERSE &IIR3 1,500,000+ 12& 18,000
o MENIFHEH HIIR3
1,800,000&*12& 21,600
o FRMENSZHE MIIRS
1,500,000 *12& 18,000
o HUHISER HIIR=
1,000,000&x12& 12,000
OBEXT USHAIL FII2S
1,000,000&*12& 12,000
o MESENSHH MIIRS
400,000& 122 4,800
o&tE et2EE2RE MIIRa
200,000&*12& 2,400
oMEE 23R E M3
200,000&*12& 2,400
ofILIA, S&E, XA M=
2,200,000&+12& 26,400
o4 U=HNMSAE 300,000&+12& 3,600
o4l &t 32 H 300,000&*12& 3,600
ocHEESHE MRS 500,000&*12& 6,000
oG4t A=A SHAIE
200,000&*12& 2,400
0 XABA HIIRS 350,000&*12& 4,200
0 SEMFZHOIESENIILS
600,000&*12& 7,200
0 ATENSAIEE MRS
70,0002 *12& 840
o SHAEAZNOIESE MRS
400,000&*4E+ 113l 17,600
o&ol=ER=a 2,000,000&+12& 24,000
oNate=s  QIHY 150,000& *12& 1,800
04U L X5t AHA +4E X2
150, 000& 43| 600
OAl&EHIsXId| 16,700
0BSHEAlIEF X2l 2,200
o3 5,000 *400%E 2,000
03It 4,000 *50%E 200
OALHMISZOIH AL IR XS4
500,000& 13 500
=Y IHALHIRAE s 500, 000& 12l 500
0MDIIAE2e|RXIE 500, 000& 12l 500
OcH=EEH2 BIE=2=+ ®=XAl2tel 3,000,000 3,000
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ool MSAE2Y (Sr9): &)
% - (5]
S - FE - SRI(E) - HRAR - BaES ol &k S B2t
OMISAIE =T |2tk
2,000,000 #5712 10,000
202 Oid| 12,000 12,000 0
01 =LHOIYI 12,000 12,000 0
OGEI(MsgR2+3) 200,000& %501+ 123 12,000
206 M= 4| 4,000 4,000 0
01 =8l 4,000 4,000 0
OxS22i8dlE, &8, IIMETRY
500, 000& 82l 4,000
307 GI2t0| 168,000 168,000 0
05 2I2tRE =2 168,000 168,000 0
O+BF, U2 BIRSE:
14,000,000& *122 168,000
405 XHAHESH| 50,000 3,000 47,000
01 TR EZFSHI 50,000 3,000 47,000
OZZHSAIE WHHe)| 2
5,000,000 *4CH 20,000
OMER HSsla 8A)|7 7Y
5,000,0003 65+ 1CH 30,000
A2 MSAIZEE 806,000 1,826,000 21,020,000
401 AIEHIZ 2B 806,000 1,826,000 21,020,000
01 Al&HI 804,000 1,824,000 21,020,000
ONsAEEs 2 =S| 200,000,000& 200,000
OSH MSAIEEALY 14,000,000&* 115 154,000
OsH® OI2sJ1+ EXIA
10,000,000 * 150 2~ 150,000
OUEIMSFHEH XIS Y=3At
50,000,000& 50,000
OERHILIAY ZHAIE 2 HIE ZHISA
50,000,000& 50,000
Od=MESSE W HILIAT ZBISA
200,000,000& 200,000
03 A& =201l 2,000 2,000 0
OAIE 20| 2,000,000& 2,000
cHEEAMS 435t 181,296 151,296 30,000
401 AIEHIZ 2B 181,296 151,296 30,000
01 Al&HI 180,000 150,000 30,000
OclZEEI2 AME=SEH & SZAS
30,000,000& 30,000
OcHEEEIZ of=2tZ2 ZEBISA
150,000, 000& 150,000
03 AIE=20HHI 1,296 1,26 0
OAIE 20| 180,000,000&+0.72% 1,2%6
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A S22
Hm: AXE HSBE X
eHel: SSHFAIE2L (2l &)
S - ZE - SI(E) - KISA - BES Ol st e lmE==]
S3HSAlIE 2] 1,355,913 1,704,600 A348,687
Xl 160,000
i 1,195,913
AtEMetotsZ =4 955,913 104,600 851,313
101 1248| 5,913 6,600 N687
04 JIRIH2 2 EE 5,913 6,600 A687
OM=%g 2 ®Xj2e| 218 5,913
0 M=%g 150,000&*1221%33] 5,400
0 NEEE= 5,400,000 *1.5% 81
0 tHHEE= 5,400,000&*8.0% 432
401 AlEHIZ 20| 950,000 98,000 852,000
01 Al&HI 950,000 98,000 852,000
Ottd HE3 2t L A AFIA
750,000,000 750,000
Otd HEZE ot==XlAlZ2 ZHIZA
200,000,000 200,000
AE =0IXHSHE Eb| 400,000 0 400,000
Xl 160,000
i 240,000
401 AlEHIZ2OHB| 400,000 0 400,000
Xl 160,000
i 240,000
01 Al&HI 400,000 0 400,000
O¢td ZPMISFHEH ZHAIE FHIAKY
400,000,000 * 14 400,000
Xl 160,000
i 240,000
SSHEAE 43t 2,320,000 0 2,320,000
Xl 760,000
i 1,560,000
SE2SE FHIAIE 1,520,000 0 1,520,000
Xl 760,000
i 760,000
401 AlEHIZ2OHB| 1,520,000 0 1,520,000
Xl 760,000
i 760,000
01 Al&HI 1,520,000 0 1,520,000
Ot SE2sE ZHIAY
1,520,000,0002 1042~ 1,520,000
Xl 760,000
i 760,000
=22 ZSMISHE HE 500,000 0 500,000
401 AIEHIZ 2B 500,000 0 500,000
01 Al&HI 500,000 0 500,000
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)

Ft

(et

300,000
300,000
300,000

el
Ol &t

Ojl st

500,000
300,000
300,000
300,000

300,000

- ZH - H(3)

FAH

500,000,000&

401 AIEHIZL 20
01 Al

CARSZE U ETR LXIBAF

O

150,000,000 & *2H
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